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6 O 5
I MPORT FUKUOKA A . P Bfir: (1000YEN)
mE - BA |E1|B2 H3H (CURRENT MONTH) RKEt (CUMULATIVE YEAR TO DATE)
COMMOD I TY & |BA{i7|BE{if 51H= £ 2H=E i) £ 1HE F2HE LS
COUNTRY wNITH|uNIT2| QUANT I TYT|QUANT I TY?2 VALUE QUANTITY1 | QUANTITY?2 VALUE
5 0 0 7 2 0 - |0 JF
1 0 3 R | S<M& S E A - - - 5 0 7 O 4 8 8
S {sTe|& A L - - - 5 0 7 O 4 8 8
5 0 0 7 2 0 - |0 JF
1 0 3 R | S<M& S E A - - - 7 O o
S {sTe|& A L - - - 7 O o
5 0 0 7 2 0 - |09
11 1 T HSAMK K5 N D - - - 2 8 9 2 1
S {sTve|& A L - - - 2 8 9 2 1
5 1 1 1 11 -|0 2 1
2 2 0 1 TSAMK & - - - 21 7 6 5
S {sSTv&a G A L - - - 21 7 6 5
( ES M GU) - - - 21 7 6 5
5 1 1 1 11 -|0 2 2
2 05 U | SKIMK K G - - - 2 a a
S {sSTv&a G A L - - - 2 a a
( ES M GU) - - - 2 a a
5 1 1 1 30 -0 2 1
2 2 0 1 TSAMK & - - - 8 5 O 2 7 7
S {sTe|& A L - - - 8 5 O 2 7 7
( ES M GU) - - - 8 5 O 2 7 7
5 1 1 2 19 -|0 2 0
2 2 0 1 TSAMK &S - - - 135 3 4 3 5
S {sTve|& A L - - - 135 3 4 3 5
( ES M GU) - - - 135 3 4 3 5
5 1 1 2 9 0 - |01 o0
2 2 0 1 TSAMK &S - - - 4 2 6 5 a 7 6
S {sTve|& A L - - - 4 2 6 5 a 7 6
( ES M GU) - - - 4 2 6 5 a 7 6
5 2 05 22 -|lo2 a1
1 0 6 T A |(WASN - - 3 6 28
s {4 Tl& GA L - - 3 6 28
5 2 0 8 2 2 -|0 9 9
3 0 4 U SSAIMK G - - - 1 3 3 2 1
S {sTve|& A L - - - 13 3 2 1
5 2 0 8 2 9 - |09 0
10 5 C HI MK 4S5 - - - 2 2 6 8 2 a7
S {sTve|& A L - - - 2 2 6 8 2 a7
5 2 0 8 51 -|0 9 9
11 8 1 NSOV 1 A - - - 195 2 1 7 6
S {srve A L - - - 195 2 1 7 6
5 2 0 8 5 2 - |O 2
1 0 3 R | S<ine& E A - - - 24 15 3 4 0
11 8 1 NSO 51 A - - - 6 9 4 O 1 0 6 8
S {sTe|& A L - - - 9 355 14 0 8
5 2 0 8 5 2 - |0 9
10 3 R | S<M& S E A - - - 6 5 4 11 4a
S {sTve|& A L - - - 6 5 4 11 4a
5 2 0 9 21 -|o 9 0
3 0 4 U SSAIMK G - - - 2 6 9 8 O
S {sTve|& A L - - - 2 6 9 8 O
5 2 0 9 31 -|09 1
3 0 4 U SSAIMK G - - - 2 7 a 6 5
S {sSTv&a G A L - - - 2 7 a 6 5
5209. 51 -|099
3 0 4 U SSAIMK G - - - 16 5 7 a s 7
S {sTve|& A L - - - 16 5 7 a 5 7

BAESHE M % &

R

AY

AY




1 9 8fo 1 2f PAGE

6 O 5
I MPORT FUKUOKA A . P Bfir: (1000YEN)
mE - BA |E1|B2 48 (CURRENT MONTH) RKEt (CUMULATIVE YEAR TO DATE)
COMMOD I TY & |BA{i7|BE{if 51H= £ 2H=E i) £ 1HE F2HE LS
COUNTRY wNITH|uNIT2| QUANT I TYT|QUANT I TY?2 VALUE QUANTITY1 | QUANTITY?2 VALUE
5407 . 42 -|02 1
3 0 4 U SSAIMK G - - - 108 3 1 5 O
S {sTe|& A L - - - 108 3 1 5 O
54 08. 109 -|02 o0
3 0 4 U SSAIMK G - - - 7 9 5 4
S {sTe|& A L - - - 7 9 5 4
5 5 1 4 4 1 - |0 9 O
3 0 4 U SSAIMK G - - - 7 a4 9 1 3 o
S {sSTv&a G A L - - - 7 a4 9 1 3 o
55 1 6 2 4 - |09 9
3 0 4 U SSAIMK G - - - 2 6 7 6 8
S {sSTv&a G A L - - - 2 6 7 6 8
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